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1. Ravi is the brother of Sweta. Jyoti

is the sister of Neelam. Sweta is the
daughter of Rohit’s father. Neelam is
the daughter of Subhash. Jyoti is the
mother of Ravi. Mahesh is Neelam’s
only sister’s husband. How is Rohit
related to Subhash?
(A) Brother

_-(B) Grandson
(C) Son
(D) Son-in-law

Direction for Question Nos. 2 and 3

Study the information given below carefully

and answer Question Nos. 2 and 3 :

A, B,C,D,E, F,G, Hand [ are nine
points. C is 2 km east of B. 4 is | km north
of B and H is 2 km south of 4. G is 1 km
west of H while D is 3 km east of G and F'is
2 km north of G. I is situated in middle of B
and C while E is in middle of H and D.

o ©
2. What is the distance between E and /?

wee

(A) 3km (B) 2km
(C) Skm (D) None of these

3. What is the distance between E and P
(A) 1km (B) 243 km
{©) 22 km (D) None of these
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Direction for Question Nos. 4 and 5

Read the given statements and conclusions
carefully. Assuming that the information
given in the statements is true, even if it
appears to be at variance with commonly
known facts, decide which of the given
conclusions logically follow from the
statements :

4. Statements :

@)

(i) Some prizes are certificates

All prizes are medals

Conclusions :

I.  Some certificates are prizes

1. 59 9gH (R Eh § II. = Some medals are prizes

Il O FHU-95 TF o § III.  Some certificates are medals

(A) @it frerd 1 11 @R 11 el & (A) All conclusions I, II and III
ITER § follow

B) fak fssd 1 3K 11 el & AR

o 5 ((B) Only conclusions I and II follow

(C) s foreshd I 31K 111 el % STER (C) Only conclusions I and III follow
4

(D) fad Frerd 11 oik 11w & (D) Only conclusions II and I
m‘{% follow
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6. uﬁm@m?wﬁmmvﬁ

59065125 fer@ Sl | ‘NAVY’ &
fou =g et | 1 fer@n S ?

(A) 705110130
(B) 906220125
(C) 705110125

(D) 701550130

Statements :
(i) Alldogsare lions

(i) No elephant is a lion

Conclusions :

. Nodogisan elephant
[I. No lion is a dog

[II. Some elephants are dogs
(A) Only conclusion II follows
(B) Only conclusions I and I1I follow

Only conclusion I follows

©)

(D) Only conclusions II and 1II

follow

Ifin a certain code, ‘ARMY’ is written
as ‘59065125, how will ‘NAVY’ be
written in that language?

(A) 705110130
(B) 906220125
(C) 705110125

(D) 701550130
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Question Nos. 7-11

There are 8 boxes of different colours, Viz.
Green, Blue, Pink, Black, Orange, Yellow,
White and Red, which are kept one above

Direction for

other.

There are four boxes between pink and Red

s between Red and

Green box. Thre

Orange and Green box.
between Orange and Blue boX. Only on€

box is kept between Blue and Black box.
The Black box is not kept immediately

above or below the Orange bOX. There are
two boxes between White and Yellow box.
The White box is kept above Red boX, but

not on the top.

7. Which coloured box is kept at the
bottom?
AA) Pink
(B) Yellow
(C) Red
(D) None of these

8. What is the position of Black box with
respect to Pink box?

(A) Two places below
NB) Immediately above
(C) Immediately below

(D) None of these

CIM -2
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A) 3

B) 2

© 4

(D) 8 A I T

10. mﬁmmiﬂmm%?

9, How many boxes are kept between

Yellow and Orange box?
/(A) 3

(B) 2

(€) 4

(D) None of these

10. Which box is kept at the top?
(A) Pink
B) Red
(C) Orange
/(D) Yellow

11. Which of the following boxes is kept

immediately above Red box?
(A) Orange

(B) White

v

© Black

(D) None of these

12. Out of the four alternatives, onc is
different from the other three. Find

that odd one out .
4A) Elephant
(B) Whale
(C) Hawk

(D) Bat
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13.

14.

(A

AC)

Consider the given statement and the
following assumptions. Decide, which
of the assumptions is implicit in the
statement and choose your answer
accordingly :

Statement : The civic authority has
decided that all the factories located
-1side the city limit be shifted outside
to reduce the level of environmental

pollution in the city.

Assumptions :

I. The pollution level in the city
in future may reduce after these
factories are shifted outside the
city limit

Enough usable land is available
outside the city limit for these

II.

factories

Many of these factories may
shift to some other smaller towns
to remain profitable

I1I.

Only II is implicit
(B) Only II and III are implicit
Only I and II are implicit

None of these

(D)

All the faces of a larger cube are
coloured red and then cut into 27

D e ; identical smaller cubes. Find the
Sl T, number of smaller cubes in which
(A) 24 (B) 8 only two faces are coloured :
©) 12 D) 9 AA) 24 (B) 8
©) 12 (D) 9
CiM-2
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15.

16.

17.

prefafaa #ae # e e (2) & wam
@ & R T WA H g

24,125; 29,:,56, 2
(A) 316
(B) 422
(C) 448
(D) 312
r seR-w feu M ¥ 5 @ e

firdt YRR THM €, SEfE TH 3 ¢
36 STe SE-THE &l T4 I :

(A) CXIR
(B) LNIQ
(C) EVGT

(D) HSKP

Frefafad sEen 3 ¥ () #
e & forg AE-TE Ca i (R
ELV, JHY, ODB, TZE,

XVH

YWH

YVH

15.

16.

17.

Select the number that can replace
the question mark (7) in the following
series :
24, 25, 29, 56, ?

(A) 316
(B)
)
(D)

422
448
312

Four letter-clusters have been given,
out of which three are alike in some
manner, while one is different. Select
the odd letter-cluster :

() CXIR
(B) LNIQ
(C) EVGT
(D) HSKP

Select the letter-cluster that can replace

the question mark (?) in the following

series -

ELV, JHY, ODB, TZE, ?
(A) XVH
(B) YWH

g) YVH
(D) XWG
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Direction for Question Nos. 18 and 19

Read the information given below and then
answer the questions that follow :

Eight friends P, O, R, S, T, U Vand W

~ .

are sitting in a circle facing the center,
Q is sitting between )V and S. W is third
to the left of O and second to the right
of P. R is sitting between P and V.
O and T are not sitting opposite to each

other.

18. Who is third to the left of § 7

(A) U Q\‘H

B) T
< P \8‘
(D) None of these

19. Which of the following statements 1S
not correct?
(A) S and P are sitting opposite to
each other
(B) R is third to the right of §
AC)

(D) P is sitting between R and U

T is sitting between U and S

20. Which symbol will be on the face

opposite to the face with symbol a ?

. B a 0 B /] B a 0
o W e [ 5 [0 y (Y]« Y] e [U]s |0
(A) 8 B) B _(A) B (B) B
©) © D) & () 6 D)
-2 [10] SetD
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Direction for Question Nos. 21 and 22

Study the situation and choose the course of
action from the options provided :

21

22,

(})

You are the IT expert in a consultancy,
but the work assigned to you pertains
to Human Resources, an area in which
you have limited knowledge. What

will you do?
(A) Do limited job and send it to the
boss

Take help from co-workers and
after learning the ropes dispose
the work and inform the senior
that you have taken the help of a
fellow worker to finish the job
At the time of assignment, you
will inform the boss about not
having relevant experience
Inform the senior in writing that
this work is not of any concern
of you

©)

(D)

You own a factory. One day, there is
noise in the factory and you are told
that an iron rod has fallen on two
workers. They are badly injured and

are bleeding. Everybody is in panic.
What should you do?

(A) Call the police to control the
situation

(B)

Tell the labourers to mind their
own business

(C) Call the union leader and discuss

the matter with him

Get immediate medical attention
to the injured labourers

/
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Direction for Question Nos. 23-27
Study the statements carefully and ap

the following questions :
Following are the conditions for selectj,
candidate for MBA in a top college : 82

The candidate must—
(/) be not more than 25 years of ag

1 August, 2017
be a 10th pass with minimum §(y

(if)
marks

(iif) be a 12th pass in any discipline wity
minimum 70% marks

(iv) have secured minimuim 70% in Group
Discussion

(v) have secured minimum 60% in

Personal Interview
In the case of candidate who fulfils all the

conditions except—
(a) At (i) above, but has secured at least
60% in Class 12th but had Science

in Class 12th, his/her case is to be
] head of MBA

60% TIfEe
foqm fa=n £ | 3G HECH TR ¥ referred to departmenta
fayrg 9um™ 1 Y 9T © (b) At (v) above, but has secured at leas!
: ; : 50% in Personal Interview, his/her
®) st ;);1 3 mmm ;‘i:r);l/_: case is to be referred to admission
’ committee
g firfe 1 TS ST g _In each question below, details of on¢
frferfan waw 9 T wieare | candidate are provided. You have to take
o -raa-(m' faq'[ el %l m a—q-a-a,a' ﬁfﬂﬁﬂﬁ one of the following courses of actionS
o v T A A € T & SR T based on the conditions given above and
Frtarsdl ° 9 = o BT @R information provided in cach question 3"
. T H g . EAl mark the number of that course of action as
rians i HE <l m sw # fafeq & your answer. You are not to assume anything
g | 3™ V' CEREE] 3 < T SRR & Al other than the information provided in each
s o TE A FRd ¥ @it T 1 3P, question. All these cases are giver to you &
2017 % STTELE | on 1 August, 2017. d
: : : vide
o1 e T F < T g o w . Now reafi the information pro et
L < Fafea X in each question and mark your
accordingly. T
get-D
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23.

24.

Sushant scored 85% in 12th in Science
Stream and 90% in 10th class. He
scored 61% in Personal Interview and
74% in Group Discussion. He was
born on 24th April, 1994 :

(/(A) Case is to be referred to

departmental head of MBA
(B) Candidate is to be selected
(C) Candidate is not to be selected

(D) Data provided are inadequate to

take a decision

Dikshant scored 67% in 12th in
Science Stream and 92% in 10th
class. He scored 85% in Personal
Interview and 82% in Group
Discussion. He was born on 12th

September, 1995 :
(A) Candidate is to be selected

(B) Data

decision

inadequate to take a

(C) Case is to be referred to admis-

sion committee

AD) Case 1is
departmental head of MBA

to be referred to

Set-D
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25. Rishabh scored 75% in 12th i 4
Stream and 95% in 10th clagg {
scored 55% in Personal Interviey, =
76% in Group Discussion. He :
born on 19th November, 1993 : :

(A) Case is 10 be referred .
departmental head of MBA

(B) Candidate is to be selected
(C) Candidate is not to be selecte]

/(D) Case is to be referred to admissis:
committee

26. Roshni scored 69% In 12th and 87%

'6. AT I 1281 § 69% R TEl 4 87%
zifqe TFan 1 399 Al HETHR I in 10th class. She scored 62% i
62% 3R TgE == 4 74% zfae fea Personal Interview and 74% 1n Grox
e = 13 TeEey, 1992 i gaT ol : Discussbjon.lgsgh; was born on 13&
5 e o December, :
(A) =< et T & Ta 3T i (A) Data inadequate to take :
(B) W%ﬁ@ﬁmﬁﬁﬁwiﬁﬂ decision
ST (B) Case is to be referred 1
©) - e ?fﬂ?ﬂfﬂ% admis.sion f:ommittee
D) 3 . 1= s (C) Cand{date is not to be selected
HES[E _AD) Candidate is to be selected
57, e F 124 H =i o7 3 65% & | 27. Shekhar scored 65% In 12th @
1041 8 85% Zifaa f&an | =491 2 IESUG] Commerce Stream and 85% in 102
e T 65% T HIE == 4 80% class. He scored 65% in person.
e faa | SHE 4 29 #1995 Interview and 80% 1n Gro%?
1 g 9l Discussion. He was born of 29
(A) maﬂﬁmmg August, 19?5 z
(B) e F T AL, favmeas s (A) Candld?te is to be selected
i 4 (B) Case is to be referred
bl W mg . ) departmental head of MBA
©) :TTW‘T("‘;ﬂ vefavE Ffafz & 9 = (€) Cascistobcrcferredtoadmiss‘on
_ . committee
(D) TR F T T E (D) Candidate is not to be selecte?
CIM -2 [14] 4~’1§ﬁ



28. Read the situation and choose the

28. e
et # TEAS HER F I best course of action from the options
G ; provided :
SR A i 3 g & el & Your superior has asked you to give
%ﬁﬁ'{\ﬁ iaqq%;( & T < % fag a presentation on a topic within two
a1 & 1 9T A T 6 IR T days. You burn the midnight oil and
o €1 R, A g % o finish it. However, durin
S TR e o € S § SR mansse, > W s c
] HEHR AR 3 3 gfaf actual presentation your superior 1S
1 gl ? disappointed and rebukes Yyou for
(A) ﬁl’diﬂﬁ’{ﬂg%ﬁ the work done. What will be your
(B) | 's'{?ﬁ‘iﬁ! | reaction?
© T & B T (A) Leave the place immediately
S < (B) Resign from the job
NNV C) React and sh i
D) ot -t T (C) Reactands out at the superior
- A ) }D) Ask for feedback and assure that
amrg Ffedi 1 S L il .
you will rectify the errors
2. aq Fuifa erata § T & - et | 29 You are handling a time-bound project.
T, AT Tl % W—mﬁm During the project review meeting,
m\m\a‘nﬂ 3 @ :;1 ; & aa'"g you find that the project is likely to get
< Iir W\Hﬁﬁm H . ‘q';:_qﬁ delayed due to lack of co-operation of
3”'9 qfEeET & AR 7 faer= ’ the team members. What should you
G & 1 3ngent o HTT AMEY, ? do?
T > gqmaia ;
(A) ER“\” T‘ 03(7\"1@ ?ﬁ gl (A) Ask for extension of time citing
=& 1 "I Sl e, ‘TEasons
s 5 &Y Sl A
(B) <ol @edi @l qC 5 _(B) Ask for the replacement of team
A AMBT members
(C) 3rgedm & el SiCERER (C) Look into reasons for non-
FHE 96T cooperation
(D) svedm & e it weed (D) Warn the team members for their
A &A1 =Med non-cooperation
e /
CM_3 [151]
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30. fr (1), sheh (B) o @ (S) F
ey H 960 wafwrdl & 7 & Faa0 F
aftomg = femm T % :

low
ATAVA
-

A urmeti = wET 9el ® q&hd T

30. A result of a survey of 960 Persor,
with respect 1O their knowledg. .

Hindi (H), English (E) and Sanskri 5,

is given below :
E
T/
s

What is the ratio of those who knos
a1l the three languages to those whodo

S STel % WY S e 2
1 not know Sanskrit?
Gl 1
A) —
(B) - . f
1
10 ® 7
© =
17 LA
: © 17
D) == Dy =
27 D) —
31, < T st § faa Bre €2 31. How many triangles are there in t
given figure?
(A) 32
(B) 36 AA) 32
(C) 34 (B) 36
(D) 31 (C) 34
TR (D) 31
setD
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2

< B
(A) : (B)

7

9

12
13. ga'aaﬁzﬁm,ﬁmﬁes%ﬁshgm
naﬂgvrawmmmﬁ,m;
YR (B) 2
€) 3 (D) 3

34. Wmﬂaﬁ 595 & H A=A T 15% H
Wﬂm%an‘vzjwumwﬁ%m

= a1 B
(A) 850'5.1\1'

(B) 921% i

35. aﬁmﬂmnﬁi#AS

(C) 1% oA

(D) Z%Eﬁ/
[17]
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32. Whichone of the following is greatest?

¢ Rt 5
L £, Zand =
9. 5 +8 11
2 3
A) — (B) =
(A) = s
7 5
) — D) —
©) 9 (D) i
ich should

33. The smallest number, wh
be added to 756896 so as to obtain a

multiple of 11, will be :

(A) 1 (B) 2
(C) 3 (D) 5
34. When an article 1s sold for Rs. 595,

there is a loss of 15%. To gain 23%, it

should be sold for:
(A) Rs. 850
(B) Rs. 921
(C) Rs.795
(D) Rs. 861
35. Walking at 45% of his usual speed,
a man reaches his destination 1 hour

50 minutes late. Find the usual time to

reach the destination :
(A) 2hr
(B) 3hr

~AC) 1% hr
(D) 2% hr

-
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36. 132, 156 @i 192 @ AET (T
Huw.) x ¥ ; 105, 150 3 210 =
HET. y & 3R 112, 196 SR 210
TE, 2% T Tl A PAE

(A) x
(B) »y
((O) -

(D) Hoft SR €

37. 1,000 ®/fmwW @t ug 4 3R
700 ./fm. o=l ' B H ARt
2 : 3% 3aE H U g ug e T ¥
15 Torciam Ut urg oM | forat @
@t ?
(A) 9,800 %.
(B) 8,200%.

(C) 12,300 %.
(D) 12,800 %.

38. 12 e, 11 Afecnsil 3R 8 == d 1020
Ttwere |l SHl € | I IeN, Afgen
R a3 :3: 2% UM H Eihele
qom | geH o e ° fohat gfeare

HCF of 132, 156 and 192 is Hy
of 105, 150 and 210 1S y, and HCR :
112, 196 and 210 is z. Which jg th;

greatest HCF ?

/QA) X
B) y
©) =z

(D) Allare equal

An alloy is made by mixing met
A costing Rs. 1,000/kg and mety
B costing Rs. 700/kg in the rati
2+ 3. What is the cost of 15 kilograms
of this alloy?

(A) Rs. 9,800

(B) Rs. 8,200

AC) Rs. 12,300

(D) Rs. 12,800

1020 chocolates are to be divided
between 12 men, 11 women and
children. Each man, woman and child
will get chocolates in the ratio of
3 :3: 2. What will be the share of

3 ?
men?
(A) 324 ' y
(B) 432 ol e
(B) 432 e
(C) 540 ©) 540 <\ é%
(D) 450 (D) 450 yd ‘:’}{\Z"_'
CIM -2 L
set?
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g

@Wﬂqﬁaﬁa‘aﬁﬁzo%m
e ST & S TR ASE H10%
g1 feal Sl § | STAHR ek o &
Wﬁaﬁﬁﬁm;

(A) 12% TS

(B) 8% FH

©) 8% dfs

(D) 12%

39

40, I T SR S h AR, AR
FREAE 5043 % I H ¥ X THH
s 12960 W7 WAL €, @ SEdAEHR
S Y e B

A) 2087 (B) 259
(C) 309 (D) 24 3.

41, wfgad 15% W 2 a8 & foru & fAfeea
i T et S TR @ & e
siqt 90 T, ¥ | TR I RIS :

(A) 4,500%. (B) 4,000%
(C) 3,500%. (D) 4,200%
1 HHAT

42, mmmﬁmﬁ 35%
Eﬁﬁrwﬁﬁﬁﬁso%ﬁﬁﬁgﬁ”ﬁ
Wﬁﬁﬁx%aﬁﬁﬁ»ﬁxmm
2 -

39. The length of a rectangular park 19
increased by 20% and its breadth i
decreased by 10%. Find the increase/

decrease in arca of the rectangular
park :

AA) Increased by 12%

(B) Decreased by 87

(©) Increased by 8%

(D) Decreased by 12%

40. If the length, breadth and height of
a rectangular box are in the ratio of
5.4 : 3 and its volume is 12960 cubic
cm, then the length of the rectangular

box will be :
/QA) 20 cm (B) 25cm
(C) 30cm (D) 24 cm

41. The difference between simple and
compound interest on a certain sum of
money for 2 years at 15% per annum
is Rs. 90. Find the sum :

_A) Rs. 4,500 (B) Rs. 4,000
(C) Rs.3,500 (D) Rs. 4,200

42. When the price of an item was reduced
by 35%, then its sale was increased by
80%. If there is an increase of x% in
the receipt of the revenue, then the
value of x will be :

(A) 13 ® U (A) 13 (B) 17
©) 19 o 13 €) 19 (D) 15
S et —

CiM-2



43. A IEY 4 3R B www: 40 i 48 A H

TF S R T § iR w3 T A
B2 5 frem @relt =t genar &1 TH 9
I uIRY g 2% W ¥ 30 fire 7 W
Hhdl B 1 S il el &

(A) 450 e
(B) 500 e
(C) 400 e
(D) 480 e

44. TE A 15,400, T 5 B i 9 Hidar
T &1 9% TS B 10% T FigA H
20% T4 T = a1 § 1 AfE qeft A o)
ST 1 =Rt 2,080 . 1Y AT,
q1 7 ST =1 AT qod ;1R ?

(A) 4,900 %.
(B) 4,130%.
(C) 4,200%.
(D) 3,990 %.

45. afc a+b+c=83Rab+bc+ca=1%,
a1 9rd shifera R bc(b+c)+ca(c+a)+
ab(a + b) + 3abc =?

43. Two pipes 4 and B can fil] 5 tay -
40 and 48 minutes resPeCtIVely
a waste pipe can empty 5 galjo, N
minute. All the three pipes Work;
together can fill the tank in 30 Miny,
The capacity of the tank is :

NA) 450 gallons
(B) 500 gallons
(C) 400 gallons
(D) 480 gallons

44. A person buys 5 tables and 9 chairs fir
Rs. 15,400. He sells the tables at 10%
profit and chairs at 20% profit. If his
total profit on selling all the tables and
chairs is Rs. 2,080, what is the cost
price of 7 chairs?

(A) Rs. 4,900
(B) Rs. 4,130
AC) Rs. 4,200
(D) Rs. 3,990

45. Ifa+b+c=8andab+bct
1, then find be(b + ¢) + calc * a)?
ab(a + b) + 3abc =?

E’;‘; ‘1‘ ) 4
© 2 (B) 1
(D) 8 N
(D) 8

CIM -2 I e _,_49



46.

47.

48.

49.

afz ey’ 8=y =
(3x + Ay)(3x% + Bxy + C)?)

%,'cﬁ(C—AJrB)wan‘Trn;

(A) 0 (B) 3

©) 2 (D) 4

& SEAHR WY P THYS T 264
Hex & 3R FEHR A 924 W WX
3| 3% o9 3R FAE & AW I
I :

(A) 3:7 B) 7:3

(C) 6:7 (D) 7:6
AABCH /4 =48°%13fg ZB 3 £C

¥ fgurere J R faed €, @ ZBIC 1AM
U

(A) 119° (B) 138°
(C) 114° (D) 102°
aﬁaﬂtﬁm@mmzzoaﬂtzs
ﬁﬁfﬁ'mm%l@mmoﬁﬁﬁ
mmﬁ%aﬁwﬁaﬁﬂ?ﬁﬁm
m@gﬁmaﬁ’nwﬁmﬂmﬁﬁ
3 ga o fear | @M B FEe [ FH
T F 1 fopad oA @ ?

(A) 32f (B) 28 fT

©) 29fH (D) 30fA

46. If (x+y)° +8(x —~y)P =
(3x + Ay)(3x% + Bxy + Cy?),

then the value of (C—-A + B) will be :
AA) 0 (B) 3
(C) 2 (D) 4

47. The curvedsurfacearea ofacylindrical
pillar is 264 m2 and its volume is

924 m3. Find the ratio of its diameter

and its height :
(A) 3:7 }B) e 3
(C) 6:7 (D) 7:6

48. InAABC, £ZA=48° Ifthe bisectors of
/B and ZC meet at I, then the measure

of ZBIC will be :
(A) 119° (B) 138°
®©) u4 (D) 102°

49. Hari and Mohan can do a work in
20 and 25 days respectively. After
doing collectively 10 days of work,
they leave the work due to illness and
Shyam completes rest of the work in
3 days. How many days Shyam alone

can take to complete the whole work?
(A) 32days (B) 28 days
(C) 29days (D) 30 days

\ /_

CiM_>
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WA H. 50 U 51 % fera P
A o0 T e 3 were e B < e i
€ | SR WA 3R FAT 1 serad T e
R TZ T T 2T o oA i IR & o AT
HHA-H/E HE AEAYIF 2/E |
50. mﬁwmwg7
. draadyd enfa s sus@hae &
IH 9OA & 3 A g A
1. 370/ ¥R I9F I Hl 9d9H Y
11:6% sgoa d §
. 3@ | 9= ad =g vid R 366
TS W IY H U 12:7 &
Sl
(A) 1,11 3RIII
(B) fad I siRIII
(C) =i ° | =g
(D) & 1Rl
51. oW H MGG ?
[ e e § A 1 A 8 TR AL AL
g
[ e eeE & femd 11 L /Hw
TR 9 <l ©
[[I. feer < e 9gTd i e ¥ A i
THR &1 i) 3 fmd/eL ©
(A) @ T FHE T
(B) Tk 13mIl
(C) fak 1l
(D) 3R 11 T 91 e fd 101

Direction for Question Nos. 50 and 51

Each of the questions given below consigg
of a question followed by three statementg.
You have to study the question and the
statements, and decide which of the
statements is/are necessary to answer the
question.

50. What is Arnav’s present age?

I.  Five years ago, Arnav’s age was
double that of his son’s age at
that time

II. Present ages of Arnav and his
son are in the ratio of 11 : 6

[1l. Five years hence, the ratio of
Arnav’s age and his son’s age
will become 12 : 7

(A) I, IIand III
(B) Only II and III
(C) Any two of the three

_AD) Only I and III

51. What is the speed of the current?

I.  Speed of the boat is 8 km/hr in
still water

II. The boat runs at a speed of
11 km/hr downstream

III. The difference between the
speeds of the boat while
travelling in still water and down-
stream 1s 3 km/hr

(A) Any one of the three

(B) OnlyIandII
(C) Only III
(D) Either I and II together or only III

CIM-2 [22]
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4

W,sz@%%ﬁ’ﬂﬁ%w
qﬁ‘aﬁm Aqqd Ty R CE - 52 sl
53%31(%&

@@,ﬁ’r.q. Frdehd ¥ fafi it (4, p
[’Damg)ﬁﬁﬁm%wﬁww
W—m(%"ﬂ‘m)

At & A GE&AT = 2100

W‘-’&

5. E1 fasiagar wra ol @ en C U

ferdragan Wi B @ ferad wfawe 3ifus
??

(A) 25.9% (B) 35%

C) 32% (D) 31.4%

$3. A 3iR B Fersroan W o b weA C
aﬁwﬁﬁr@maﬁlmmﬁ@xm%'
A Feifra H A= ®

(A) 65 3R 70
(B) 55 3R 60
(C) 60 3R 65
(D) 50 3R 55

Direction for Question Nos. 52 and 53
Study the pic-chart and answer Question

Nos. 52 and 53 :

Break-up (degree-wise) of students in

terms of specialisation in diffecrent areas

(A, B, C, D and E) in an MBA program
Total number of students = 2100

A

52. The number of students specialising
in E is what percent more than that of

students specialising in C ?

AA) 25.9% (B) 35%
C) 32% (D) 31.4%
53. The total number of students

specialising in 4 and B exceeds the
total number of students specialising
in C and D by x, which lies between :
(A) 65and 70

B) 55 and 60
(C) 60 and 65
(D) 50 and 55

e

— . [23]
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Direction for Question Nos, 54 4,4 "
g . 54 T 55 % forg PR . . |
et .y Gtudy the following bar graph 4,
H- ‘ :"“n,
frrtfafiaa = I A i Question Nos. 54 and 55 : ‘
3R 55 & IW ST ¢
P . e Total number of boys ang itk
’ y b - ' ‘ u
el at et W schools A, B, C; D and [;
s 3500
3500 1200 3200
3000 | 2 2800 3000 |- 290
2500 |— 2 4 ,// 2500 f— é
L~
ZEE N Z 2 1 2000
2000 |— 1800 [ 2 2 “ 2000 = 1800 5 ,
ZZZZ % ZENZ Iz
1500~ & P Z 7 > 1500 - £ - A
ZRZZZZ ZIZINZ
wol B H B B E ool E ZHRZ
L~ A A1 L~
sol- B H E ZBZ ZBRZ 2
- [~ > % ] 500 A -~ -
; ZHIGIZ
¢, D i E faanerdi & wgaht .
A% f;’t * 2 Difference between the number of boy’
wgfwdl ot W& H 3 N
and girls in schools 4, B, G D andf
900 | 860
800 |- 2 900 — 860
700 1 700 800 |- Z
ZIlZ ZBEL.
600 I~ 7 R 700 | A 7
520 1 E ZR7
P 500 1 E 2%
2 28 E o0 |- ‘n
Z ZERZINZ 520 27
wl 30 B H B E 500 - 500 7
300 ~ 2 - ; 40 g ’ ’
ZEZIZIRZ 0 350 ZZN
200 |- ZHZHZlZ 300 |- B 1 9 7
100 4 B B B Z Z ? 2
1 B B 200 - £ ZERZ/
0 - Z z ZB’
A B C S S5 100 = P Z N7
D E Z ZIRZp’
_ 0 = Sy’




54,

e C % TRt i W 39 feremera

3 F farenfefai =1 foramn wfae@ € 2
(A) 60% (B) 75%
(C) 62.5% }D) 67.5%

55, faemed B % @i W fame™ D @i

56.

57.

iRl N ST F1 T ?
)A) 3:4 (B) 4:3
(C) 13:11 (D) 12:13

A ABC ® D 3R E wa®: AB 3R AC
gmﬁ%ﬁgwm%ﬁDﬂBcé
SRR 1A AD : DB=3:4%, T
gusis DECB 3R A ADE & &9%a il
AT 1 T ?

(A) 27:64 (B) 9:49

(C) 9:40 (D) 3:7

w e 16 i@l ¥ & i
Sira ¥ o s £ 1 174 ol H =% 102
= o &, Fore Swa ol 4 3R e
& 17 T F A IHen AEd
22

54.

35,

56.

/(E) 9:40

The number of boys in school C is
what percentage of the total number

of students in that school?

(A) 60% (B) 75%

(C) 62.5% (D) 67.5%

What is the ratio of number of boys

in school B to the number of girls in

school D?

(A) 3:4 (B) 4:3

€ 13:11 (D) 12:13

In A ABC, D and E are the points on
sides AB and AC respectively such
that DE is parallel to BC.If AD : DB =
3 : 4, then what is the ratio of area of

A ADE to that of the trapezium DECB?
(A) 27:64 (B) 9:49

(D) 3:7

57. A batsman has a certain average of

runs for 16 innings. In the 17th innings,
he makes a score of 102 runs, thereby
increasing his average by 4. What is

his average after the 17th innings?

(A) 27 (B) 34 (A) 27 £B) 34
©) 31 (D) 38 ©€) 31 (D) 38
CiM -2 [25] Set-D




A R
R TR
g

[

~ |

Direction for Question Nos. 58 anq g
WY W, 58 UH 59 % fog AW Study the following pie-chart ap l 0.
W E 58 o 59 3 T & 3 frg A answer Question Nos. 58 and59. 4
- T SIS : otal number of students admjq
: 31 oy fRT T T ted iy
T favafiarer & fafie &l ® university in various fields = 500
Distribution of the number of students 61.
into various fields
Fields No. of Boys
e MBA 56%
<. PRl :‘5‘ ; B. Pharma 44%
e feefm : Fashion Designing 65%
e Hotel M t 72%
a 0,
g = nag‘emen oo
Y- 209 Eco.nomlcs 68%
Engineering 80% .
58. Ty feemfim =t w=fedi w :
Srerite = et & Tqﬁi’ Qaa:\"dﬁ 58.  Whatis the difference betweennumt®
39 ' g of girls in Fashion Designing a"i
(A) 41 (B) 29 number of girls in Hotel Manager™™
(A) 41 B) 29
©) 21 (D) 37 B)
. ) 21 (D) 37
59. ﬁ.waﬁmﬁﬁqﬁn%i . B
B g R sy 3 By what percent number of g“LSO p
A) 49%  (B) sgo B. Pharma is less than number of
( (B) 58% in Eno:
ngineering?
€) 2% (D) 3
CIM -2 \\ % D) 33.3%
[26) (D) W



A

# KT TR el ¥ ¥ o
el T W AR O S 3
€ T §0 T % et v R g
WITIAE

L\

W T 1 TR 2
(A) &R
B) fo=
(C) T

D) W

61. ¥l ™ @™ T wiw § ‘FEATURE’

H UVZGFIV’ o s 1 ot 52

Wl § ‘CHARACTER’ =@ =11 o
S 2

(A) XSZJIZYGVI]
(B) XSZIZXGVI1
(C) DSZIZYGX]

(D) XSZJZXHY]

62. IRt M fas A A @ ™

60. Select one option out of the four
options given below which is related
to the third word in the same way as
the second word is related to the first
word :

Bhutan : Ngultrum : : Iran : ?
(A) Dinar
(B) Rial
/(C) Shekel
(D) Euro

61. Inacertaincodelanguage, FEATURE’
is written as ‘UVZGFIV’. How will
‘CHARACTER’ be coded as in that
language?

MA) XSZIZYGV]
—B) XSZIZXGVI
(C) DSZIJZYGX])
(D) XSZIJZXHY]

62. Select one option out of the four
favew =1 gt Gﬁ ded ¥ 1 33? options given below which is related
39 T T 2 ﬁm TE TEal g& to the third number in the same way
AT AT G ¢ ¢ as the second number is related to the

15336511187 ISt UbETE
A) 1210 7:336::11:9
1
a5 —A) 1210
(B) 990
(C) 1320 (C) 1320
D) 1122 (D) 1122
CM- 2 [27]
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67, TEEC

68.

69.

70.

(A) V&R e
) Frmad (D) Wiy,

ey e A fFe T @1 4

73.

e e Al b

74,

75.

76.

79,5

78.

79.

Ci



?" o
2

73.3@%%‘34%’@%33@

w6
(A) I
(C) BT

(B) smaEy
(D) 3w
14, UG K SR TEm R

(A) TE9aES

(B) Tr=uga==

(C) T=ryaE®

(D) sAfwEFEES

75. Ta1 & SO 9 e | -
(A) oz (B) w&™
(C) I™= (B) HH

76. ‘g’ I qESS G T :

L e el

80. TH QA I TS AL & ?

) T
(C) .

(B) &m™
(D) TTHe

81. ‘o' fouia weg &1 WS ¥
(A) =t faraor
(B) T
(C) FEarEs faem
(D) ufmE fagmo

82. A ‘gg A’ h1 QR - E ?
(A) fres (B) =0 WieRt
() faer=r (D) US4 A=

83. 'gX’ i fdum vt ©

AA) TED +B) wgH
©) ke D) e (A) g™ (B) g™
N ©) =X AD) g
i‘; ;ﬁ:;ﬁ;@% 84. Frerfefea o wifd wes FR-WE?
(C) THTH R E- ) s S
(D) e T O e (D) Feltere
8. :ia;ﬁmﬁf;?;m" 85. '{agA' BTG Vg W Woud W31 R -
AR (A) ¥ (B) %
p) I (B) T s G
(C) gy (D) S 86. FreTefan ¥ T v v -
79. aﬂg{w%7 . (A) o= (B) w@fel
© e © e it
CiM_2
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87. weTars gean el €

DO (B) R
(C)  aerehl (D) @Il

88. ‘fagugr A werm R
(A) TE (B) fore
(©) a1 D) ¥

89. MHU-BN W HH-T G © ?

(A) wHuma (B) &
(C) ey (D) 5%

90. 3TH ¥ yEarEs 9T

(A) g (B) <&

AC) (D) ®R
91, wAfgam § gog P .

(A) ®HU@  (B) wgdife

C) w8 (D) faq
92. ‘Tl Wt W H-w T )

(A) BB 99

_AB)  srerdivE W
(C) +HY™ gorg

(D) TIeY wH
93. “ﬁﬁnmilﬁi”mqﬁwm
® '
(A) # e

AB) # 71 as
© FTTWE  (©) §orr
cm-2

L) fasita
\ (D) ﬁfeia‘/

[30)

94,ﬂmﬁ3ﬁﬁ'ﬁ'}lﬁ'ﬁ“@aﬁ

Igyrarsti | S1eT © ? f%”
(A) 5 B) 7
) 9 (D) ‘W?fﬁﬁwm

95, ;ﬁmwsﬁﬁmmm
(A) Tl &
JB) et e
(C) verEl f&d
(D) 9 4 s ot T

96. ‘'€ @R a1 & AR ¥ '
FNE?
(A) g
(C) fadrao

AB) T
(D) T Q4 HE G F

97. ‘TN’ U=t w1 U Y B =Wl
V= 1 GHA Y 1 B B ?
(A) s=&U (B) <&
A6 (D) weh

9. R v e v & W
1 A e TS ?
~(A) w9 (B) eV
© T (D) THAMEAT

. T 1wt fereir yreg A
(A) sfig _(B) 9=
© ™ () FEawE A

100. Freffien 4 4 s v 16
(A) Fsig (B) firsiia
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